

## Worksheet 3, ANSWER KEY, Tuesday, September 24, 2013

1. Compute the following limits. Justify your answers. Be clear if they equal a value, or  $+\infty$ ,  $-\infty$ , or DNE.

$$(a) \lim_{x \rightarrow 2} \frac{x^2 + 6x + 8}{x + 2} \stackrel{\text{DSP}}{=} \frac{4 + 12 + 8}{4} = \frac{24}{4} = \boxed{6}$$

$$(b) \lim_{x \rightarrow 2} \frac{x^2 + 6x + 8}{x - 2} \stackrel{\left(\frac{24}{0}\right)}{=} \boxed{\text{DNE b/c RHL} \neq \text{LHL}}$$

$$\text{RHL: } \lim_{x \rightarrow 2^+} \frac{x^2 + 6x + 8}{x - 2} = \frac{24}{0^+} = +\infty$$

$$\text{LHL: } \lim_{x \rightarrow 2^-} \frac{x^2 + 6x + 8}{x - 2} = \frac{24}{0^-} = -\infty$$

$$(c) \lim_{x \rightarrow 2} \frac{x^2 - 6x + 8}{x - 2} \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow 2} \frac{(x - 2)(x - 4)}{x - 2} = \lim_{x \rightarrow 2} x - 4 \stackrel{\text{DSP}}{=} 2 - 4 = \boxed{-2}$$

$$(d) \lim_{x \rightarrow 2} \frac{x^2 + 5x - 14}{x^2 - 4x + 12} \stackrel{\text{DSP}}{=} \frac{4 + 10 - 14}{4 - 8 + 12} = \frac{0}{8} = \boxed{0} \text{ TRUST THIS ANSWER.}$$

Note: 0 in the numerator is fine (as long as the denominator is non-zero).

$$(e) \lim_{x \rightarrow 2} \frac{x^2 + 5x - 14}{x^2 - 8x + 12} \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow 2} \frac{(x + 7)(x - 2)}{(x - 2)(x - 6)}$$

$$= \lim_{x \rightarrow 2} \frac{x + 7}{x - 6} \stackrel{\text{DSP}}{=} \frac{2 + 7}{2 - 6} = \frac{9}{-4} = \boxed{-\frac{9}{4}}$$

$$(f) \lim_{x \rightarrow -3} \frac{x^2 + 4x + 3}{x^2 - 2x - 15} \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow -3} \frac{(x + 1)(x + 3)}{(x - 5)(x + 3)}$$

$$= \lim_{x \rightarrow -3} \frac{x + 1}{x - 5} \stackrel{\text{DSP}}{=} \frac{-3 + 1}{-3 - 5} = \frac{-2}{-8} = \boxed{\frac{1}{4}}$$

$$(g) \lim_{x \rightarrow -3} \frac{x^2 + 4x + 3}{x^2 + 6x + 9} \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow -3} \frac{(x + 1)(x + 3)}{(x + 3)(x + 3)} = \lim_{x \rightarrow -3} \frac{x + 1}{x + 3} = \boxed{\text{DNE b/c RHL} \neq \text{LHL}}$$

$$\text{RHL: } \lim_{x \rightarrow -3^+} \frac{x + 1}{x + 3} = \lim_{x \rightarrow -3^+} \frac{-2}{0^+} = -\infty$$

$$\text{LHL: } \lim_{x \rightarrow -3^-} \frac{x + 1}{x + 3} = \lim_{x \rightarrow -3^-} \frac{-2}{0^-} = +\infty$$

$$(h) \lim_{t \rightarrow 1} \frac{t - 1}{g(t^2) - 3} \text{ where } g(t) = 2t + 1.$$

$$\begin{aligned} \lim_{t \rightarrow 1} \frac{t-1}{g(t^2)-3} &= \lim_{t \rightarrow 1} \frac{t-1}{(2t^2+1)-3} = \lim_{t \rightarrow 1} \frac{t-1}{2t^2-2} \quad \left(\frac{0}{0}\right) \\ &= \lim_{t \rightarrow 1} \frac{t-1}{2(t^2-1)} = \lim_{t \rightarrow 1} \frac{t-1}{2(t-1)(t+1)} = \lim_{t \rightarrow 1} \frac{1}{2(t+1)} \stackrel{\text{DSP}}{=} \lim_{t \rightarrow 1} \frac{1}{2(1+1)} = \boxed{\frac{1}{4}} \end{aligned}$$

(i)  $\lim_{x \rightarrow 0} \frac{x+1}{x(x+2)} \quad \left(\frac{1}{0}\right) = \text{DNE b/c RHL} \neq \text{LHL}$

RHL:  $\lim_{x \rightarrow 0^+} \frac{x+1}{x(x+2)} = \lim_{x \rightarrow 0^+} \frac{1}{(0^+)(2)} = +\infty$

LHL:  $\lim_{x \rightarrow 0^-} \frac{x+1}{x(x+2)} = \lim_{x \rightarrow 0^-} \frac{1}{(0^-)(2)} = -\infty$

(j)  $\lim_{x \rightarrow 3} \frac{x^2-2x-3}{x^2-6x+9} \quad \left(\frac{0}{0}\right) = \lim_{x \rightarrow 3} \frac{(x-3)(x+1)}{(x-3)(x-3)} = \lim_{x \rightarrow 3} \frac{x+1}{x-3} \quad \left(\frac{4}{0}\right) = \boxed{\text{DNE b/c RHL} \neq \text{LHL}}$

RHL:  $\lim_{x \rightarrow 3^+} \frac{x+1}{x-3} = \lim_{x \rightarrow 3^+} \frac{4}{0^+} = +\infty$

LHL:  $\lim_{x \rightarrow 3^-} \frac{x+1}{x-3} = \lim_{x \rightarrow 3^-} \frac{4}{0^-} = -\infty$

$$\begin{aligned} \text{(k)} \quad \lim_{x \rightarrow -5} \frac{\frac{1}{4-x} - \frac{1}{9}}{x+5} &= \lim_{x \rightarrow -5} \frac{\frac{9}{9(4-x)} - \frac{(4-x)}{9(4-x)}}{x+5} = \lim_{x \rightarrow -5} \frac{9 - (4-x)}{9(4-x)} \\ &= \lim_{x \rightarrow -5} \frac{9-4+x}{9(4-x)} = \lim_{x \rightarrow -5} \frac{5+x}{9(4-x)} = \lim_{x \rightarrow -5} \frac{5+x}{9(4-x)} \cdot \frac{1}{x+5} \\ &= \lim_{x \rightarrow -5} \frac{1}{9(4-x)} \stackrel{\text{DSP}}{=} \frac{1}{9(4-(-5))} = \boxed{\frac{1}{81}} \end{aligned}$$

$$\begin{aligned} \text{(l)} \quad \lim_{x \rightarrow -3} \frac{x^2-4x-21}{\sqrt{1-x}-2} &= \lim_{x \rightarrow -3} \frac{x^2-4x-21}{\sqrt{1-x}-2} \cdot \left(\frac{\sqrt{1-x}+2}{\sqrt{1-x}+2}\right) \\ &= \lim_{x \rightarrow -3} \frac{(x^2-4x-21)(\sqrt{1-x}+2)}{1-x-4} = \lim_{x \rightarrow -3} \frac{(x+3)(x-7)(\sqrt{1-x}+2)}{-x-3} \\ &= \lim_{x \rightarrow -3} \frac{(x+3)(x-7)(\sqrt{1-x}+2)}{-(x+3)} = \lim_{x \rightarrow -3} \frac{(x-7)(\sqrt{1-x}+2)}{-1} \\ &= -(-3-7)(\sqrt{1-(-3)}+2) = -(-10)(\sqrt{4}+2) = (10)(2+2) = \boxed{40} \end{aligned}$$

(m) Let  $g(x) = \sqrt{x}$ . Compute  $\lim_{s \rightarrow 1} \frac{g(s^2+8)-3}{s-1}$

$$\lim_{s \rightarrow 1} \frac{g(s^2+8)-3}{s-1} \quad \left(\frac{0}{0}\right) = \lim_{s \rightarrow 1} \frac{\sqrt{s^2+8}-3}{s-1} \cdot \left(\frac{\sqrt{s^2+8}+3}{\sqrt{s^2+8}+3}\right)$$

$$\begin{aligned}
&= \lim_{s \rightarrow 1} \frac{s^2 + 8 - 9}{(s-1)(\sqrt{s^2+8}+3)} = \lim_{s \rightarrow 1} \frac{s^2 - 1}{(s-1)(\sqrt{s^2+8}+3)} \\
&= \lim_{s \rightarrow 1} \frac{(s-1)(s+1)}{(s-1)(\sqrt{s^2+8}+3)} = \lim_{s \rightarrow 1} \frac{s+1}{\sqrt{s^2+8}+3} \\
&= \frac{1+1}{\sqrt{9}+3} = \frac{2}{3+3} = \boxed{\frac{1}{3}}
\end{aligned}$$

(n) Let  $f(x) = \frac{1}{x}$ . Compute  $\lim_{t \rightarrow 2} \frac{f(t-1) - 2f(t)}{t^2 - 4}$ .

$$\begin{aligned}
\lim_{t \rightarrow 2} \frac{f(t-1) - 2f(t)}{t^2 - 4} &= \lim_{t \rightarrow 2} \frac{\frac{1}{t-1} - \frac{2}{t}}{t^2 - 4} = \lim_{t \rightarrow 2} \frac{\frac{t}{t(t-1)} - \frac{2(t-1)}{t(t-1)}}{t^2 - 4} \\
&= \lim_{t \rightarrow 2} \frac{\frac{t - 2(t-1)}{t(t-1)}}{t^2 - 4} = \lim_{t \rightarrow 2} \frac{\frac{t - 2t + 2}{t(t-1)}}{t^2 - 4} = \lim_{t \rightarrow 2} \frac{\frac{-t + 2}{t(t-1)}}{t^2 - 4} \\
&= \lim_{t \rightarrow 2} \frac{-(t-2)}{t(t-1)} \cdot \frac{1}{t^2 - 4} = \lim_{t \rightarrow 2} \frac{-(t-2)}{t(t-1)} \cdot \frac{1}{(t-2)(t+2)} = \lim_{t \rightarrow 2} \frac{-1}{t(t-1)} \cdot \frac{1}{t+2} \\
&= \lim_{t \rightarrow 2} \frac{-1}{t(t-1)(t+2)} \stackrel{\text{DSP}}{=} \frac{-1}{2(2-1)(2+2)} = \boxed{-\frac{1}{8}}
\end{aligned}$$

(o)  $\lim_{x \rightarrow 4} \frac{|x-4|}{x-4}$  DNE b/c RHL  $\neq$  LHL

$$\text{Recall } |x-4| = \begin{cases} x-4 & \text{if } x-4 \geq 0 \\ -(x-4) & \text{if } x-4 < 0 \end{cases} = \begin{cases} x-4 & \text{if } x \geq 4 \\ -(x-4) & \text{if } x < 4 \end{cases}$$

$$\text{RHL: } \lim_{x \rightarrow 4^+} \frac{|x-4|}{x-4} = \lim_{x \rightarrow 4^+} \frac{x-4}{x-4} = 1$$

$$\text{LHL: } \lim_{x \rightarrow 4^-} \frac{|x-4|}{x-4} = \lim_{x \rightarrow 4^-} \frac{-(x-4)}{x-4} = -1$$

WARNING: The  $|x-4|$  does not just cancel with the  $x-4$ . You must examine the two cases for the absolute value.

(p)  $\lim_{x \rightarrow -1} \frac{1}{|x+1|}$   $+\infty$  b/c RHL = LHL

$$\text{Recall } |x+1| = \begin{cases} x+1 & \text{if } x+1 \geq 0 \\ -(x+1) & \text{if } x+1 < 0 \end{cases} = \begin{cases} x+1 & \text{if } x \geq -1 \\ -(x+1) & \text{if } x < -1 \end{cases}$$

$$\text{RHL: } \lim_{x \rightarrow -1^+} \frac{1}{|x+1|} = \lim_{x \rightarrow -1^+} \frac{1}{x+1} = \frac{1}{0^+} = +\infty$$

$$\text{LHL: } \lim_{x \rightarrow -1^-} \frac{1}{|x+1|} = \lim_{x \rightarrow -1^-} \frac{1}{-(x+1)} = \frac{1}{0^+} = +\infty$$

$$\begin{aligned}
\text{(q)} \quad \lim_{x \rightarrow 3} \frac{\frac{x}{x-2} - \frac{x+6}{x}}{x-3} & \stackrel{\left(\frac{0}{0}\right)}{=} \lim_{x \rightarrow 3} \frac{\frac{x^2}{x(x-2)} - \frac{(x-2)(x+6)}{x(x-2)}}{x-3} \\
& = \lim_{x \rightarrow 3} \frac{\frac{x^2 - (x-2)(x+6)}{x(x-2)}}{x-3} = \lim_{x \rightarrow 3} \frac{\frac{x^2 - (x^2 + 4x - 12)}{x(x-2)}}{x-3} \\
& = \lim_{x \rightarrow 3} \frac{\frac{x^2 - x^2 - 4x + 12}{x(x-2)}}{x-3} = \lim_{x \rightarrow 3} \frac{\frac{-4x + 12}{x(x-2)}}{x-3} \\
& = \lim_{x \rightarrow 3} \frac{-4x + 12}{x(x-2)} \cdot \frac{1}{x-3} = \lim_{x \rightarrow 3} \frac{-4(x-3)}{x(x-2)} \cdot \frac{1}{x-3} = \lim_{x \rightarrow 3} \frac{-4}{x(x-2)} \\
& = \frac{-4}{3(3-2)} = \boxed{\frac{-4}{3}}
\end{aligned}$$

$$\text{(r)} \quad \lim_{x \rightarrow 3} -\frac{1}{(x-3)^2} \stackrel{\left(\frac{-1}{0}\right)}{=} \boxed{-\infty \text{ b/c RHL=LHL}}.$$

$$\text{RHL: } \lim_{x \rightarrow 3^+} -\frac{1}{(x-3)^2} = -\frac{1}{(0^+)^2} = -\frac{1}{0^+} = -\infty$$

$$\text{LHL: } \lim_{x \rightarrow 3^-} -\frac{1}{(x-3)^2} = -\frac{1}{(0^-)^2} = -\frac{1}{0^+} = -\infty$$